prepp

Practice, Learn and Achieve
Your Goal with Prepp

UGC NET Exam

Anthropology

Simplifying
Government Exams

@ ssccHst | £ 1asexam | (D) RRENTPC | GO NTSE | £ cDs
& cBsEuGC NET | (i7 1BPS PO | 7 NDA
€ ssiro | (17 1BPs CLERK | <&y AFcaT | @ @) CTET
@ csiRucc NET | @ capF | (i7 1BPS RRB



https://prepp.in/
https://prepp.in/ssc-chsl-exam
https://prepp.in/ias-exam-exam
https://prepp.in/rrb-ntpc-exam
https://prepp.in/ntse-exam
https://prepp.in/cds-exam
https://prepp.in/ssc-cgl-exam
https://prepp.in/cbse-ugc-net-exam
https://prepp.in/ibps-po-exam
https://prepp.in/nda-exam
https://prepp.in/sbi-po-exam
https://prepp.in/ibps-clerk-exam
https://prepp.in/afcat-exam
https://prepp.in/ssc-je-exam
https://prepp.in/ctet-exam
https://prepp.in/csir-ugc-net-exam
https://prepp.in/upsc-capf-exam
https://prepp.in/ibps-rrb-exam

PAPER-I

ANTHROPOLOGY
Signature and Name of Invigilator
1. (Signature) OMR Sheet NO. : .o,
(Name) (To be filled by the Candidate)
2. (Signature) Roll No.
(Name) (In figures as per admission card)

Time : 1 %, hours]

Em 1 3 Roll No.

(In words)

[Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

Instructions for the Candidates

1. Write your roll number in the space provided on the top of | 1.
this page. 2.

2. This paper consists of fifty multiple-choice type of questions. | 3.

3. At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the

paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.

(if) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be
given.

(iii) After this verification is over, the OMR Sheet Number | 4.
should be entered on this Test Booklet.

4. Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the circle as indicated below on
the correct response against each item.

Example:@ . @ 5.

where (C) is the correct response.

5. Your responses to the items are to be indicated in the OMR

Sheet given inside the Paper | Booklet only. If you mark

atany place other than in the circle in the OMR Sheet, itwill |

not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your Name, Roll Number, Phone Number or put

any mark on any part of the OMR Sheet, except for the space

allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means such as change of response by scratching or using

white fluid, you will render yourself liable to disqualification. | 9-

9. You have to return the test question booklet and Original
OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. You are, however, allowed to carry duplicate

© N
N

copy of OMR Sheet on conclusion of examination. 10.
10. Use only Blue/Black Ball point pen. 11.
11. Use of any calculator or log table etc., is prohibited.
12. There is no negative marks for incorrect answers. 12

13. In case of any discrepancy in the English and Hindi versions, | 13
English version will be taken as final.
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1.

ANTHROPOLOGY
Paper — 11
Note : This paper contains fifty (50) objective type questions of two (2) marks each. All

questions are compulsory.

An extensive study on ‘magic’
among human societies was done by
(A) Franz Boas

(B) Emile Durkheim

(C) McLennan

(D) James Frazer

The central reference point from
which all relationships can be traced
on a genealogical diagram, is

(A) Id (B) Ego

(C) Centrum (D) Super ego

‘Social Organization’ according to
Radcliffe Brown refers to the study
of

(A) Roles

(B) Statuses

(C) Groups

(D) Associations

Those aspects of society that are
considered ordinary, having no
special religious significance, is
known as

(A) Profane
(C) Secular

(B) Sacred
(D) Spiritual

Alzheimer disease leads to
(A) Malnutrition (B) Diabetes
(C) Cancer (D) Dementia

‘Race’ refersto a

(A) Cultural category

(B) A non-biological reality

(C) A classification which s
arbitrary

(D) All of the above

Among the living apes, the
genetically closest to humans is

(A) Gorilla

(B) Chimpanzee

(C) Orangutan

(D) Gibbon

Paper-11

8.

10.

11.

12.

A statistical technique showing
relationship between two variables :
(A) Regression

(B) Correlation

(C) Standard Deviation

(D) Standard Error

Plio-Pleistocene boundary IS
determined by the presence of villa
Franchian fauna. These fauna include
(A) Species of Aves

(B) Species of Lupus

(C) Species of Bos

(D) Species of Dinosaurs

Prehistoric art is found all through the
upper Palaeolithic period. This art best
exemplified by the site is known as

(A) Combe-Grenal

(B) Altamira
(C) Laugerie-Haute
(D) Parpallo

Cultural variability is a function of
I. Physical features of a country
Ii.  The adaptability of the people
lii.  Technological differences

iv.  Cultural similarities

Codes :

(A) i, ii, iv and iii are correct.
(B) i, ivand i are correct.
(C) i, iiand iii are correct.

(D) v, iii and ii are correct.

Quantitative Research aims at

I.  to quantify variation

ii.  to predict causal relationship

iii.  to describe characteristics of a
population

iv. to describe an individual’s
experience

Codes :

(A) i, iii & iv are correct.

(B) i, ii & iii are correct.

(C) i, iii & iv are correct.

(D) i, ii & iv are correct.
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13.

14.

15.

16.

17.

Which among the following are
considered as property among the
most vulnerable tribal societies ?

i. Land

ii. Cattle

iii.  Tools and implements

iv.  Precious metals ornaments
Codes :

(A) i, iiand iv are correct.

(B) i, iii, iv and i are correct.

(C) iii,ivand i are correct.

(D) i, iiand iii are correct.

The VI Schedule of the Indian
Constitution is applicable to the areas
in the following States :
I. Assam ii.
iii.  Tripura (\2
(A) v, iii &ii are true.
(B) i, ii &iii are true.

Meghalaya
Jharkhand

(D) i, iii & v are true.

Which of the pairs
matched ?
(A) ABO blood -T.H. Morgan
group system
(B) Rh blood —Karl
group system  Landsteiner &
A.S. Weiner
—W.S. Sutton

is correctly

(C) Pharma-
cogenetics

(D) Phenylke-
tonuria

—-J.B.S. Haldane

Which of the following pairs is not
correctly matched ?
(A) Haemophilia —Sex-linked
recessive
cell —Autosomal
dominant
—Sex limited

(B) Sickle
disease

(C) Beard
development
in man

(D) Turner’s
syndrome

-XO

Racial Classification of World
Population was given by

(A) Risley

(B) Sauk

(C) Guha

(D) None of the above

Paper-11

4

18.

19.

20.

21.

Tertiary period includes
(A) Miocene and Pliocene only
(B) Oligocene and Palaeocene only

(C) Pliocene, Miocene, Oligocene,
Eocene and Palaeocene

(D) Eocene and Miocene

Fire for cooking was used for the
first time by

(A) Homo-Neandarthalensis
(B) Pithecanthropus Erectus
(C) Homo-sapiens-sapiens

(D) Sinanthropus Pekinensis

Remains of the lower Palaeolithic
culture in India are found at

(A) Langhnaj

(B) Navdatoli

(C) Burzahom

(D) Attirampakkam

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R) :

Assertion (A) : Emic Approach in
Anthropological research is
useful to trace out the ‘insiders
views’ on the research problem.

Reason (R) : It helps the
Anthropologist to give
semantic explanations about
the research problem from
people’s perspective.

In the context of the above

statements, which of the following is

true ?

Codes :

(A) Both (A) and (R) are not the
correct explanation of (A).

(B) (A)is false and (R) is true.

(C) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(D) (R)is false and (A) is true.
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19.

20.

21.

AT HT H FHTGE &

(A) HaeT TZSEN T T3

(B) ool oNferidH U uferdrd
()

(C) == (JAf), HTE3EM,
e (3Teae),  S3iaM
(M) TS Uferare=

(D) T3 Td HESAHA

Ml U % g i o 3uEm
g feh g1 feha T &1 2

(A) zmr Fugreeg

(B) Tufrhend snaed

(C) er-aftrar-afraTa

(D) TEA=eTE - UfeRAtasd

IRA H qd QRO SR+ a9y
FET T I S € 2

(A)

(B) ATeRTeACAT

(C) g™

(D) SNFRTUTRY

e 31 e 5 T €, U i e
(A) 3T T B HRT (R) HT A9 fzam
TI'?ZIT%':

Afpem (A) : AHAfORE S |
U (FEEWE) SUTH WY
T W e & foEw uar
T & o STt & |

HRUT (R) : I8 AFa-fos=r @l oy
I % TR | A % g 9
= WO 9 W GEEr
FATE |

ST 3 FAl & G § FHefefad |

Y BT AT ?

T4

(A) (A) 3R (R) 3HT (A) & T
T TR ¢ |

(B) (A) e, (R)TAE |

(C) (A) &R (R) qH ¥ & 3R (R),
(A) & T& AT T |

(D) (R) 3= & 3R (A) TAE |




22. Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R) :
Assertion (A) : Little community is
characterised by  subsistence
economy.

Reason (R) : Such a community
satisfies all needs of its members
from birth to death.

In the context of the above two
statements, which of the following is
correct ?
Codes :

(A) Both (A) and (R) are true and (R)
IS not the correct explanation of
(A).

(B) Both (A) and (R) are true, (R) is
the correct explanation of (A).

(C) (A)is false, but (R) is true.

(D) (R)is false and (A) is true.

23. Given below are two statements. One
is called as Assertion (A) and the
other is labelled as Reason (R) :
Assertion (A) : Divination is done

to foresee future events or
uncover the causes of past
events.

Reason (R) : Human beings
often attempt to control the
forces of the universe.

In the context of the above two

statements, which one of the

following is correct ?

Codes :

(A) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(B) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Paper-11
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24,

25.

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R) :

Assertion (A) : Despite various
developmental programmes
made for the scheduled castes
and scheduled tribe
communities in India, majority
amongst them are socio-
economically backward.

Reason (R) : Fruits of
developmental programmes
have not reached the scheduled
castes and scheduled tribe
communities as desired by the
planners.

Codes :

(A) (A)is false and (R) is true.

(B) (A) istrue and (R) is false.

(C) (A)istrue and (R) is also true.

(D) (A) isfalse and (R) is also false.

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R) :
Assertion (A) : In  sickle  cell
anaemia, glutamic acid in the
beta chain is replaced by valine.

Reason (R) : Sickle cell
haemoglobin is caused by a
point mutation.

In the context of above two

statements, which one of the

following is correct ?

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.
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26.

27.

28.

Given below are two _statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R) :

Assertion (A) : Racism IS a
biological concept.

Reason (R) : Racism leads to
prejudice.

In the context of the above two

statements, which one of the
following is correct ?
Codes :

(A) Both (A) and (R) are true and SR)
is the correct explanation of (A).

(B) Both (A) and (R) are true and
(R) is. not the correct

explanation of (Ag._

EC; EA? is true, but (R) is false.

D) (A)is false, but (R) is true.

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R) :
Assertion (A) : Molecular
Anthropolo%¥_ is one of the
i

evolving subfields of biological
anthropology. )
Reason (R) : Development in

Molecular Anthropology is due
to the advancement in the
Human Genome Project.

In the context of above two

statements, which one of the
following is correct ?
Codes :

(A) Both (A) and (R) are true and SR)
IS the correct explanation of (A).

(B) Both (A) and (R) are true and
(R) is. not the correct
explanation of (Ag._

EC% §A§) is true, but (R) is false.

D) (A) is false, but (R) is true.

Given below are two _statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R) :

Assertion (A) : Habitual —  erect
posture and bipedalism are
exclusive human traits. _

Reason (R) = : There were major
anatomical change in the
human skeleton during the
course of evolution.

In the context of the above two

statements, which one of the
following is correct ?
Codes :

(A) Both (A) and (R) are true and SR)
is the correct explanation of (A).

(B) Both (A) and (R) are true and
(R) is. not the correct
explanation of (A;"

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Paper-11
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29.

30.

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R) :

Assertion (A) : It was due to
technological advancement that
Neolithic men were able to
produce their food.

Reason (R) : Food  production
led to an available surplus to
maintain a larger population.

In the context of the above two

statements, which one of the
following is correct ?
Codes :

(A) (A) is correct, but (R) is wrong.
(B) Both (A) and (R) are correct.
(C) (A)iswrong, but (R) is correct.
(D) Both (A) and (R) are wrong.

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R) :

Assertion (A) : Microliths were
manufactured by  fluting
technique during Mesolithic
culture.

Reason (R) : Microliths were
used to make composite tools
because they were able to
economize raw materials.

In the context of the above two

statements, which one of the
following is correct ?
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.
(D) (R)istrue, but (A) is false.
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26.

T 31 o T3 T &, U S 3T (A)

3R TR I HROT (R) o1 -9 T T &

At (A) : USIaER TS Sifaw
TIRON T |

R (R) :;ﬁﬁaﬁﬂﬁrﬂ?ﬁaﬁ?m

FIATE |
SRR &1 Al o Gew § fefeia o
Y B AT ?

%

(A) (A) 3R (R) sHi ¥ € 3R (R),
(A) F el R & |

(B) (A) 3R (R) 3Hl ¥ € 31X (R),
(A) i Tt AR TETE |

(C) (A)T@T, W (R) 3HAE |

(D) (A) 3§, W (R)TAE |

. T S e T T €, U SR (A)

3R TR I HROT (R) 1 A T T &

AfBeA (A) : UITgS FHETERH, Sid
AHaTa= % U ot gl
T3 S-S ¥ |

FHROT (R) : AW AW OReped T

% PR H  IUIEH

AR B o ge & |

SUFET T HIAT o GIH H HHrerad §

T B 91Tl § 2

%

(A (A GﬁT (R) S & € 3R (R),
(A) =l &l AT 7 |

(B) (A) 3R (R) 3Hl ¥ € 31X (R),
(A) F TEl =T T8

(C) (A)THE, W (R) ITAT |

(D) (A) s g, W (R)TTE |

. A S A 198 T E, U ol ST (A)

aﬁ?g@%aﬁwm)w:mﬁmw%

;rnn;(ﬁA) R Hrt 5T e T
e a9 € |

HROT (R) : SEHE % FHH IR A6

ﬁg T §g WEAHS aReaT
|

T FUA & Gy H et |

I T2

(A) (A) y%?)ﬁW%ﬁT(R)

A T T € 3R
B) A R) w (R),
(A) ué TIE | N
(C) (A)a= (R) r@ca & |
(D) (A) 3R (R)q?hw% |
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29.

30.

e gt FoF 5 T €, U F e

(A) 3T T H HRT (R) HT A9 fzan

TE

AfirmeE (A) : URITTRE 3G %
SHIRUT & AGUISTOT I & TG 379
ST T 3R F I A |

HRUT (R) : T 3ARA § SART TG
H aftd wH F o Suey
3T TrTel & T |

ST 3 AT & GH ¥ Hfeiad |§

T B AT T E 2

&<

(A) (A) Tl e, W (R) T ¢ |

(B) (A) 3R (R) 31 W&l € |

(C) (A)Toa &, T (R) Wl & |

(D) (A) 3 (R) I W&T € |

A 1 U T T €, U AT

(A) 3T T BN HRT (R) HT A9 gm0

TITIT%':

AMHAT (A) : GeEERAT H AT
FIeH AT AT STAFIUT T o
FIRT TETTSIOT S o AR foha
ST o |

HRUT (R) : Geedi &1 W MWisa
SYHIOT I S H {HAT ST o1
i T T Fd HTA HI
foqeatad @ U= 8w or |

ST 3 FAl & G § FHefefad |

T D AT E ?

E 4

(A) (A) ¥R (R) 3HI 9 & &R (R),
(A) =l &l =T 7 |

(B) (A) &R (R) 3Hi ¥ & W
(R), (A) =l W& =T &l & |

(C) (A)TEE, W (R) SHAT |

(D) (R) T &, W] (A) AT |




31.

32.

33.

34.

Identify the correct sequence of
development of theories in cultural
anthropology :

(A) Multi linear cultural evolution
— Unilinear cultural evolution —
Universal cultural evolution

(B) Unilinear cultural evolution —
Universal cultural evolution —
Multi linear cultural evolution —

(C) Multi linear cultural evolution
— Universal cultural evolution —
Unilinear cultural evolution

(D) Universal cultural evolution —
Multi linear cultural evolution
— Unilinear cultural evolution —

Identify the correct developmental

sequence of economic pursuits

among the following categories :

(A) Fishing — Gathering and Hunting
— Cultivation — Pastoralism

(B) Pastoralism — Cultivation -
Gathering and Hunting — Fishing

(C) Gathering and Hunting — Fishing
— Pastoralism — Cultivation

(D) Cultivation - Pastoralism —
Fishing — Gathering and Hunting

Robert Redfield’s concept of “Folk-
urban continuum” is based on his
study of four communities — a city, a
town, a peasant society and a folk or
simple society.

Identify these four communities and
arrange them in correct sequence to
depict the folk-urban continuum.
(A) Chankom — Marida — Tuski

Diztas

(B) Tuski — Chankom - Diztas —
Marida

(C) Diztas — Tuski — Chankom -
Marida

(D) Marida — Diztas — Tuski —
Chankom

Identify the correct instrumental

sequence as per Malinowski.

(A) Object -  Technique
Cooperation or Tradition
Context of Situation

(B) Context of situation
Cooperation or Tradition
Technique — Object

(C) Technique — Object — Context
of situation — Cooperation or
Tradition

(D) Cooperation or Tradition -
Object — Technique — Context
of situation

Paper-11

10

35.

36.

37.

38.

Arrange the following in the

ascending order as far as the

development of evolutionary thought

Is concerned :

(A) Jean Baptise — Darwin — Comte
de Buffon — Stebbins

(B) Comte de Buffon — Darwin -
Stebbins — Jean Baptise

(C) Comte de Buffon - Jean
Baptise — Darwin — Stebbins

(D) Jean Baptise - Darwin -
Stebbins — Comte de Buffon

Identify the correct evolutionary

sequence of the following fossil

hominids :

(A) A. africanus — Java Man -
Neanderthal Man - Grimaldi
Man

(B) Java Man - A. africanus —
Grimaldi Man - Neanderthal
Man

(C) Grimaldi Man — Java Man — A.
africanus — Neanderthal Man

(D) Neanderthal Man - A.
africanus — Grimaldi Man -
Java Man

Identify the correct sequence of the

following geneticists chronologically

according to their contribution :

(A) Sutton — Morgan — Watson &
Crick — Mendel

(B) Mendel — Sutton — Morgan —
Watson & Crick

(C) Morgan — Mendel — Watson &
Crick — Sutton

(D) Watson & Crick — Morgan —
Sutton — Mendel

Identify the correct sequence of cell

components in the ascending order of

their occurrence :

(A) Genes — Chromosome
Nucleus — Cytoplasm

(B) Chromosome - Genes
Cytoplasm — Nucleus

(C) Nucleus - Genes
Chromosome —Cytoplasm

(D) Cytoplasm — Chromosome
Genes — Nucleus

D-07-13
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31. WGpH AHaRE § HaTr & o 35. SR a% Mg faerew & e @@
T TR SFIHA e ! qery ¢ Mefoied s e wH o
(A) wE&EE TEpiH S - et Y -
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(B) Wir@ﬁq SRl S - (B) R T %A — e — Rfag —
qEtE Wil St - S vere
@ w«gomch 3feehTd '

(C) =g@™ w@mch Mg - (C) F T T - S TR -
SICIEER HI%%‘)I(‘IOI’» SiECar .- it — wefer . -
TG FRepiash S (D) SiF SwerEs - elier — Ria -

(D) aﬁﬁf qieplad  SfEEE - FIE T TEA
zg-{;l;% H?l;?(;:bd%:liqw - 36. FrefarfEd  Siremem SIJ-.IIT\ 9 W Wl

32. Tr=feAf@a ot o onfeeh vl & Wl (A) U STR®HE - SEr qEd -
ferepTaTereh STshH i TedT il : THeTeeeT e — THETes! o
(A) TS THST — TUE TH WHR — (B) ST WHE - U ITREEE —

el - TR oS! g — Hetetys ama

(B) TRERYT — Wl — ¥wrE el forehwY (C) vmmel YHE — ST HAd -
el THE . ITRIHMAY — fatierae

(C) ww e E@?ﬁl T — Tl TS — (D) grmam—q.wﬁgi—

. _ _ WIS THT — STTaT JTd

(D) @?ﬁ AR TS TeheT
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33. ‘AAip-TRE HRar @ dae Teitheg “'i““ﬁ*“’”?”'”*%qﬁmﬁafq’%:
a%aqawnww TR, IR, (A)@-Wﬁ-qu@wbeb-
RO TS SR % A1 GRSl QAT % Heel
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I U FY | (A) ST - HHEME — «;L?erviw -
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39.  Which one of the following pairs is 42. Match an item in List — | with an item

correctly matched ? in List — I1. Use the codes given below :
(A) Bonetools — Homohabilis X Alb_rlgrt\a_rr: : Cullt_ulfé_“
(B) Earliest — Mehergarh Kardiner
Harappan b. E.B. Tylor ii. Cultural Ecology
Phase c. Julian iii. Patterns of
(C) Mousterian — Homo-erectus Steward . Culture _
culture d. Ruth iv. Basic personality
(D) Interglacial - Miocene COdE(S;n:edlct structures
a b C d
40. Arrange the following lithic tool (A) v i i iii
types in their correct sequence of (B) i diioivoi
appearance : (€ i i i v
I. Point ii.  Chopper @ 1 v i .
ii.  Cleaver Iv. . Burin 43. Match the following anthropologists
Codes : with the concepts, they are associated
(A) i [ iv il with :
(B) i i iii iv List—1 _ List - 11
(C) iv iii i i a. DN 1. Animatism
© i i i v o Dajumaar,
. E. Durkheim ii. Animism
c. R.R. Marett iii. Totemism
41. Match the following residence d. E.B. Tylor iv. Bongaism
patterns with their corresponding Codes :
practices a b ¢ d
List— I List— 11 gé)) b
a. Virilocal i. After marriage the () i i v il
residence couple settle with (D) i i iv
the wife’s parents. _ o _
b. Uxori local ii. After marriage, the 44.  Match the items in List — | with the
residence couple settle with items in List — Il and select the
husband’s parents answer f[(i)sr? c?de given beloz\gs.t |
c. Avuncu-  iii. After marriage, the (Systems of (Communities
local couple may choose Authority) which are
to settle either with associated with)
husband’s or wife’s a. Uni-centric i. The Pueblo
parents. Authority System  Indians
d. Ambilocal iv. After marriage,_the b. X:Rh%ar?tefSystem 'i. Hopi Indians
residence couple settle with ¢. Non-kin based iii. The Nuer
husband’s mother’s Authority System
brother. d. Village Council iv. Bushman
Codes Aut_horlty System
a b c q COdeSé ] . .
(A i i v i (A iv i i i
|) i i v (B) iii i [ 0\
(C) i ivo i i (e i v i i
(D) Qi i v i (D) i i v il
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B | o iy o 9 For o 3
? ey
(A) o iR - EERfaferd TEl SR H1 =T i :
(B) URTIH &gl - HeUTg ell-1 ?ﬁﬁ-ll
LI 5 o, & z%'f i ;%%Eﬁwr&&aﬁa%
. ii.
(€)= el C. Sforaa WA iii. ¥l o e
(D) sifermdm  — WRSE (e d. =9 affede  iv. gonga st
) N S
40. TTAfAMEd YR & IO ST 6 - a b ¢ d
3% WIS & o Tl hY H Sared Y g'é‘)) ::’I ili iI\I/ ':'
i AT (1) ©) i i i v
i, T (D) 1 v i i
iii.  fagmof 43, g1 ® S WS} H GA-I H I A& R
iv. SIRA (SHIUTH) gﬁmgﬁ%ﬁaﬁfaﬁaﬁrﬁ%ﬁﬁaﬁaﬁ
T 3T T T HiT
A i i v i -1 et
®) i @i i v (;m-ﬁaﬁ) RN )
(C) iv iii ii | a. Gd. ASTHRIR | STAIAHIAI]
©) i i 0 v P igﬁg e ::IGﬁT"‘W"W -
4. Frfiad ST S BT W d. $& TeR v, EER
W@Eﬁ%ﬂﬁ?ﬁ(l:ﬁQ: 55:'3 '
i1 i1l a b c d
a. Uit i, foreme % g e (é) Loy
forara i zﬁ wg.fw% gg% W0 v
g | 11 1] v |
b. g ii. faaw & 1 e ufa 44, gLl H S AS) B gL H S WR ok
e % HTAT-far % qrer %ﬂ@ﬁﬁaﬁﬁﬁaﬁ%ﬁﬁaﬁ@ﬁ
AT | TR N T B
¢. HI- i, forae & a1, T ell-1 -1
Tt TR A7 Ui 3 - (R T HPN) SERRRY
3T T % I & S = T )
forepea & ThaT ¥ | a. % h . 3%?1??1‘ !
d. Syt iv. foame % a1, gedt b, T.arad we vt i, @y
e et i Tl % 9 Ferm
U T A € | C. 31T 3T Tl womedt i, T
HIE: (;gm&www&ﬁ iv. T
a b C d :
(A Qi i v i a b ¢ d
® i Qi i v I
(C) i ivo i i %C% ioive i i
(D) Qi il v D) i i iv il
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45.

46.

47.

Match an item in List — | with an item in

List — I1. Use the codes given below :
List—1 List— 11
a. Classification of i. Ashley
Indian People Montago
b. ‘Ethnic group’  ii. C.S. Coon
term coined by
c. ‘Origin of Races’ ii.S.S. Sarkar

d. Racial iv. W.C. Boyd
Classification
based on blood
groups
Codes :
a b c d
(A i i iii \Y
B) i v i iii
(C) i i i iv
(D) iv i i i

Match an item in List — I with an
item in List — Il. Use the codes given
below :

List—1 List— 11
a. Subspecies i. Hominidae

b. Family Ii. Homo sapiens
sapiens
c. Suborder iii.Primate
d. Order iv. Anthropoidea
Codes :
a b C d
A i iv i
B) iv i [ iii
() I T | I TR \Y/

(D) i iv i i

Match an item in List — | with an
item in List — Il. Use the codes given
below :

List—1 List—11
a. Baboon i. Indonesia
b. Hanuman ii. Madagascar

Langurs
c. Orangutan iii.India
d. Lemur iv. Africa
Codes :

a b c d

(A) v i i i
|) i i iii iv
(C) i i i iv

O) Qi Qi v
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48.

49.

50.

Match an item in List — | with an
item in List — Il. Use the codes given
below :

List—1 List—11
a. Homo habilis i. Raymond Dart

b. Austra- ii. Louis Leakey
lopithecus

c. Gigan- iii. Simons &
topithecus Chopra

d. Java Man iv. Eugene Dubois

Codes :

a b C d

A i i v

| i Qi v

(©) v i i i

(D) i v i i
Match items of List — | with items of

List — Il and select the correct answer
from the code given below :

List— 1| List— 11
(Name of the (Author of the
Book) Book)

a. Man Makes i. M. Burkitt
Himself

b. Old Stone Age ii. Brian M. Fagan

c. Stone Age Tools iii.V.G. Childe

d. People of the  iv.H.D. Sankalia

Earth
Codes :
a b c d
(A) v i i iii
B) i i i iv
(C) it i iv i
D) i v i i

Arrange the following ceramic types
in chronological order of their
occurrence :

I. Jorwe

ii. Malwa

iii.  Painted Grey ware

iv.  Northern black polished ware
Codes :

A v i i
|) i i Qi v
©) i i i iv
O) iv Qi Qi i



45.

ALl A S ST B G-I H O RS %
e gt SIS Y A i et @
el 3T T TG B
-1 -1
a. YR & AT i weTet
FTHOT R capl)
b. T W8 AT i, WLOE. FA
EIREIERRERI]
c. R o aw i TaT,
YT
d. Yo 9 W MEIRA v, S .
TSI FTTeRYoT EIRES
HE
a b C d
(A i Qi il v
B) Qi iv i il
©) i i Qi v
(D) v il i i
. 1 9 8 #e & gE-Il § & Ae
%ﬁ@ﬁﬁaﬁﬁa ﬁqﬁﬁﬁ
el 3T 1 TG B
-1 -1
a. ST i, @i
b. aRar ii. g S AT
c. 3U-FA iii.umgAT
d. =3 iv. dedraeT
HE
a b c d
(A) i iv i
B) iv i I ii
<S i i i iv
(D) it iv i i
gl § & wel B gl H S ARl %
e gaferd SIS ik A 53 wiet 4
T ST T TIT B
-1 -1
a. S i, SSHRmET
b. T TR i, HENTERT
C. e iii. R
d. =R (Fremeeh) V. 3TRIHT
HE

a b c d
(A) v i i ii
(=) S | B TR \Y/
<© i I \Y;
(D) it v i

48.

49.

50.

ajﬁlﬁfruﬁﬁlﬁﬁlﬁﬁ

aﬁwrﬂwaﬁfaﬁ

-1 -1
a. Mgl i, e R
b. ST i, T el
c. Nreifufrsa il ATEAAE T Ael
d. ST AFe iv. IR <garH
BS:

a b ¢ d

A Qi 0 il v
B®) i i i v
€) v Qi i
O) i v Qi

TeA-1 H S ART B gE-l § ARl %

T gt SIS 3T A i et @
HEl ST ol =TT BT

-1 -1

(TE& HAW)  (TEAH BT @)

a. B O BUECE i, UH. Sihe
b. 3fice ©IF T ii. ST TH. W
C. CH T Zod iii. =t 5. =meee
d. dioet 31w 5 31 iv. TEEl Hishteran
S

a b c d

(A v i i i
B) i i i v
©) i i v i
O i v i i

FATiEd gl Fell TehRI Sl 3%k
URE (AT 309 B & FIGTIhE HH
o A i

i SR

ii.  Hrefar

iii, b ge gos

iv. 3T IO HeRER JEHie
BT

(A iv i i i

B) ii I ii \Y,

C) i ii ii iv

(D) iv i i
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